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(Introduction) 5
@,a@ 2 F sl Uiy opse £ TRy, é 2 Al NN Jpd

J'élu_‘a Gow L J/W(?/JL/J;%MLL&:%U&ﬁ/;}l&W//Lc(Searching)é_é
L b P U e Pt reda oIl L s Gl GtE oo tbe S rod
Liur &L (Software) s il oLy s e dl s et S ecn-a LI ASTEL £ 6
LTS 2ot Gl s it 2o i PL & Sh b
e b L

G g ete o mudivUie &L FEEUE L eSSy P
o uiQJJGuyl/j4_u3 L/’/cflzﬁ(Computer Scientists)y/l» u*Lé&*{fuj&nuf@)Jl}
J!;Lndvpmg)%_‘aL“LgL‘J/(Programming Languages)fff:@u@/ﬁ/’ uﬁu}ﬁ/ﬂ/@:}’{z{
L Ll o1 AUt U 1_ Ut Python st CH, €, Ci+, IAVA Ll = AE B,
e VU g A By el n 2 S ety Ly et £

-U{ng_(oennis Ritchie)§, 5% (Bell Labs) );”Uéungic1973/,1¢19496/,@-c

(Programming Environment)u?/’lilﬂl)j/.: 1.1

Bt L L L S e (s (Tools) Hrbr st £ sl o6 85T
ﬂiJufaf.L.f»uQ v }u’l-‘g&ﬁc«uﬁtf (Canvas) sl Frewsy & L e e V1L
by e oy o GFecini B e & ST il By S
_+J/ﬁ ek G ‘:ééé_ugméﬂ/f/? —eBu Pl
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(Integrated Development Environment) IDE 2 /!;’lwg 34 hl 1.1.1

e L“/ﬂu/':,:i/ﬂ)l.,@uQ“Aéz;_muﬁé_ugm'&%ﬁ/ /"m‘///uC/ 2 s
-gwf (IDE) 27191 sgk g5 22 L
L/UL»"/!ub"/;l(windows)/‘;fc;d/f‘at'n(Graphical User Interface)w"jv'ijjg J{’I/LQKIDE
/‘}r,{//l/j/ U an;«UTd!u“' IDE-< CCJ_ < 23T L3l Cﬁ;; (input)<;, Wi(user) Lo
/,U)‘U/(Text Editors)J iiv/cu“‘j‘/lu?uf-u'a;uu" Jp’/LL/':_/"/;iLUP &Uﬂ//
:ug,:IDEs@{)ﬁréﬁé;’é}v@l/;/?-c_wglgéJ’bﬂ&dﬁ/’/b"/ﬂ;{(Debuggers)pgw

X Code (2 Visual Studio (1

Dev C++ (a4 Code:: Blocks (3

-~ ;Eu/u’/amam d/Code Blocks %1. 1&

No recent files

© 2004 - 2010, The Code::Blocks Team.

salocks o] sewchres | GBuldln | ¢ Bldmesogs | Qosaper | G | Cophek | | otk messges | Gape | | omolecis s Tuesdserh | 1

~U4#Imain € Code:: Blocks1.1_f*
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(Text Editor) x4lenf 1.1.2
LIDEsrﬁ_‘LQJ),Lu’ffz'_/(f}'ui'u’u;l'&‘l"/ﬂ/@?/‘{g{f/lﬁ/vﬁ‘aﬁm}vU,,i/":fgi&/g
crES S i FtSI0E AL s die e

e a8 ® Q l\t‘ > %o Build target:| Debug :‘ main() : int
R N=r

@ T main.cpp 2|
Brojects [SMpRol 1 #include <iostream>
v %;lorkspace 2
M 3 using namespace std;
¥ B Sources 4
1 main.cpp 5 int main()
6 o0
7 cout << "Hello world!" << endl;
8 return 0;
9
10
/Logs & others ®
| )\ Code:Blocks | 4 Searchresults | € Buildlog | # Build messages x| & Debugger |
File Line Message

412K Code:: Blocks 1.2
(l/’j.:,..ae_bayygu;'/ﬂ/j/?d;gugKé;@-mewﬁzl&'gﬁIDE Code:: Blocks uﬁ1.zﬁ
e S PUIEFN b o b Sk e 1o b "Hello World" o At tvre sk E
"build and run" ﬂéééj}%&ﬁ&ﬂ)ﬁ/f‘a@ "Hello World.c" rL’KJ/GJ(!/C/?’%IZ.(?

e FS G132 S B

e 2@ . a Q QD% © [ Build target:| Debug :]
.|

fRET B GO O

= 0
| projects | symbols ||
2
3
4
5 void main()
6 of{
7 printf ( “Hello world” );
8
a8 |}
10

ri)j/.:lnt‘n;a;{fluf.’Code:: Blocks 1.3J¢
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-‘a@%uﬁl.4f¢‘aéwcj’u’!(mnsole output screen)u:;a..:aﬁdr:{

I“ “C:\Users\TestUser\Documents\CodeBlocks Programs\HelloWorld.exe”

Process returned 0 (0x0) execution time: 0.032 s
Press any key to continue.

mui“‘iuﬁﬁguwgi|DE&,ur¢/§/’mg;ut1.zﬁ.uff|DEJanuJuut}gf£.,;‘o;;
-u:/:‘u};..f/'?!c,l

Computer ProgramFile

(Compiler) #/” 1.1.3

-Lat/(t{u:mm%/‘gd’./,1/,u0,62ugjd/u:‘15//"g{
_at‘ndu/"t'/gffufutjgfu’?al ié:d_/'/:«r{/?b"/”/j/“..g

SIS, Ju‘”fﬂ// é&%”ouLﬂd‘lJﬁLﬂ// AL
_‘LVMJIJM)KL/J./{J:

Computer Binary File

Program
Execution

Frk A sy a5 f
(Programming Basics) uﬁd;lﬁé..ﬁl// 1.2
Losdmdid Lo fycont o L ote QP Qs LGB BN, 1
e USSR S, n A urL (syntax) 57 K e E L Ul I

(Compile) Jl,f(l/'//)’u’ (aé JL"""Z/)M/)J!J'L JC“/KC,Q._,@// /gfL/..,C‘ﬂ/’//
,‘at lgl«f/,,lﬂdabl (error)//tufu"u/ﬂu‘i_tfu”/
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(Reserved words) L‘lﬁlé’iéu‘? 1.2.1
J:’_:/)’/.l;&‘aL“n.,«zw/u’l}ugﬂﬂ/;_baanjugd/klﬁhél;;%uﬁé;@v@!j/v/z

/7!-4[. t’lngJ/(Keywords)J:‘/:-d/.L‘(Reserved words?b‘wléiéu’:‘%@wlu!-ba b‘ﬂ")’”c;

_‘al:"l'//J%G}(Deﬁniﬁon).@féﬁfgfui/l/@

auto double int struct
break else long switch
case enum register typedef
char extern return union
const float short unsigned
continue for signed void
default goto sizeof volatile
do if static while

- {d)»_"—v]}d/);/} s é:@fi/ﬁ/’, ufl.l‘_).":

_u:/@a/’lu/'j_/,b’ﬁﬂééﬁ)}"/)uz,/g’:é:@{a—u:b‘w{ul

int, pack, create, case, return, small, math, struct, program, library.

(Structure of Program) &VJ(I/C/,:-C 1.2.2

A, LS E LA E AT s S s vl 12 A
e s
(Link section or Header Section) gfg/}j&u’?..ﬁl

It LIl senb 2P L Jose b LGRS vl oS, G
(Header files) X,k 2%, e WS 2001t P b AU R £ &S e f 28
-ujZ./’/JL’?}/G/quufrl/’j/?z;rl/zg include statementsuﬁaﬁ/“é‘/l/j/’ﬁ_wgﬂf
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:‘QJ“;‘@»&VJJ?include statement
#include <header-file-name>
_‘al:cnrtﬁj‘/(b/‘vjfu’(header—ﬁle—nameulz{,
el P 2B, T, uit P St stdioh> Ji L AUt (12U Je e
22228 (Pre-defined)ssid e &7 e - (Pt <math.ho 6l G Hisde e £ro
-t
:gf?main -2
C;/"clgri/’j/?c;u,ffm‘g t’nn/ui@ main()uguﬁrl/j/.:c/;_La b’nui@ main() J% 1
by
53102 main()-3
&T/,CIL{}U?{/. RyZA ‘Ib&f}ﬁ_‘a Jnu'lﬁ{}(curly braces)u}g/, fﬁ’u’fgd/main()
/,:Q“/a/’{g{printf("Hello World !");ﬁ@(lﬁ@éd,)@;lw JﬂJL’iuﬁ g3t u(uf/@main 0 LY
FE Bt e (K printft 38, & L &L "Hello World”
-wi/dl.ﬁ/!uﬁf@main()
t L IA
_qu/,/euﬁu:w5/omj5@/;2.£é(1ﬁ4u/;¢/g?uai ST

-JE lgwg/(Statements)c;«l/VﬂLvj’]ﬁ%lg&ﬂd}%]d/u’b%’uﬁﬂ)%é:@-c °
J;]z_‘/,c;!ic‘-fgd/wﬁﬁuﬁdﬁii:éﬁn ;/'/“/ijé"{‘.c‘,(case sensitive) MJ{({;;@C °
-‘LJ.?;’/)) f;,«?.éafuu'/“/ugg_ujﬁlntulint mtﬁuwus’u:
-ct;t’f(;)djfdf/vi'fgﬁﬂ/h
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: ead)

s aEL p1)c
#include<stdio.h>
#include <conio.h>
void main()
{
printf(“I am a student of class 10”);

getch();

y
Wmﬂ(f*’{ﬁw@-c 1.2.3
St P ek i e P AT b Sy
bl Sy A e S Etni g Sl Lo S ol
gzl tf*"’/
:ujLn‘MUZA}JZ:UI_‘gCClgla?ﬂC/l’JZ,;t'«Jd}!/C/?/ﬂ
Ut e g1
B EA QTSN GE I e 2 sl -2
,fwfwému%@/&qu/fﬁﬂ//n}nufw/g{z_/.:gf'/%um
oo s
:J?( 2 gf/
AP A B
(Single Line Comments)%ﬂf‘”-l
(Multi Line Comments)%ﬂ&-z
/ Thisis a e tb U S ealn LWIEALIL cf’um_uganc,/“é//ﬁ{y’uf“
comment
-ujZ_n&*//;lujé’_nC;/:'c; /* f""‘ﬁﬂ&
B, Us ol e Sleb-e bl el bl S ulnd /* and ¥/
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/*this 1is
amulti-Line ) J""‘f
comment*/ -k LWL 16~ s 5

~ EXAMPLE CODE 1.1 <\>

#include <stdio.h>
/*this program displays “I am a student of class 16” on the
output screen*/
void main()
{ //body of main function starts from here
printf(“I am a student of class 10”);

} //body of main function ends here
~ )

: Al

_uflgulf‘)((‘/)/v %J)LJ:J“J'@/A

e *commentgoes here*

e /commentgoes here/

e %commentgoes here%

e /*commentgoes
here*/

e /*commentgoes here/

e //commentgoes here*/
- /

e sl B 1.3
bbb Ire B AOIIJE e (e A Lr ol LKLl
SCors Ut e bner XS E é,l?:’véu/C@-cc)Ju_‘g b U b 42 B sl

W lm

(AB,...Y,2), (a,b,...y,z) 357 (1
(0-9) « x4(2
(1@ #%A&*()_-+=\{}]:;" <>, . ?/) = lk$HEG3
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) T Gl e e BT 152 e B Gt K S (5l Ui a7
e AL e FE e B A & sy e AL S Sd A S (2 Fs
L
:(Constants)e [~ 1.3.1

St e o mCon 41500, 75.7, 5 1 LS e oy 5z e e
Vet B

w  he
:(Integer constants) = [ £ (1

(7)— g ’l//'z:{.{

/,wcrcnu‘f_;é,-oj, 2349, -54, 55555, 30100, 1256, 7 J’Jf»L"Tus;Affu:u;gJu;
e b Gedled ek e 23S EF
:(Real constants) c«!ﬁ':"&‘b (2
=3 20/ F17941.2345, 1575.76, 75.0, 15.3333, 3.14: T3 2 U#E S
-uj@cyszl
:(Character Constants) c«lﬁ';’}.{/(3
&n}{/}yﬁﬂﬁguwd/(Punctuation)u”‘:olé‘:d;]@k&i){fé[fw@jlﬁ' '

_D/{}I;” I!I' 'X" Ial’ |7l’ ISIWLL

o Gl /O
ﬁﬁ»ﬂ_%t‘ﬂ._;ua,944,,91‘{44/)55}{/%%'9'd;./M.@ylef@,/)bZ:}g/Jwy
U LSS e 5 TR 048217 1B S Poiiz e N1 £ S L S

l9|+I8l#17

_ _J

_LJ:/(:)L‘«'J(L:’.!J@WJ.);/M

12 1.2 -21 32.768

a' -12.3 41 40.0 \
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(Variables)= ! 2~ 1.3.2

.lf@ﬁuﬁd/ffd/f{g{/&ﬁfw.‘a(tUl;ngg:f(Memory Locaﬁon)uﬁ’gd/ffm/)/.:"‘
£ sedduntatie sedGEe e e Fedadtp i e d G e bt
U ELA

_‘Lén(Data Type)hz/B’l‘af..g/;lujji(ldentiﬁer)oﬂ/&&&‘aL"n(t;/’;‘ug@é“”ﬂ
.,3‘}@ char,ﬂoat,int41_"@7ﬂ%&ﬁﬂuﬁé:@—c“aﬁckgﬂﬁwK(ﬁJ/uf/i"&f%&lz.;fwj
S R L pn B st S (il £ 3 S K a3 A
e

Type of Data Matching Data Type in C{Sample Values
language

Integer int 123

Real float 23.5

Character char ‘a’

er’tzsuﬂmﬁ”ziﬁﬂ:mﬁ
Lty e SR NL UL e o A A
(Data Type of a Variable)gf’lfl‘dgf/é" 1.3.3
Y VST SV PR WY I WP P ol 1 e
T Ut B2 ez - e SATTAL Lo dedh fe

o

32,768 0 § A1 AL gr S e e 2 L LS A A

e (532768 =




S B, 1 A Aot
(Signed/Unsigned) -int/ffl

(it At Qo Al £ Aioe dnd L3 S5V A sves A
i et sl L3S Vta

: Signed int

//i_ujsclgd/yﬁw“f&’}n.;grt?j 2147,483,647 < -2,147,483,648 _*Signed int
,KngLé’ru? Signed intclfguﬁ&,i&@d:%&intd/
:Unsigned int
jﬁﬁivuu_ug36;4.,64,294,967,2954;0;?ug‘}ﬁhﬁ‘ffgé_}/uwnsigned int
_‘Lt'ndl.»"/lunsigned int 5/;—J4£L//.?g$’
:float ..fw’l;jf)’
b g E e sl ie sl L e P LTAE A e
34x100E U1 e & 8 S G b e b S float (L L LS
W F 34010
:(char) 2/
QJ.LL/L‘}{:.L%&nou/(fcharb;—Jéi&/ﬂ/ﬁ“!d@éwﬁ/{/@f—c
_‘acclgy@'ff}g/ugd/uﬁJt"'ﬂd/“;..,gé.,:fEchar_%anzé;&glezﬁ

(Name of a variable) rl:Kg,l/é" 1.3.4

it bead I E e o b sz b AL,
P R PR A O NN VY o Vel N
_Uﬁ(.LLM‘LD:}’ZC}/:"L&/UF"_"EJfL{FL’w (2
_CCMJJ;(W/.:"‘L;_JVQ 3
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e ﬂ{dgbaufdfﬂé;’/ oSl
_varl«Average weight« height wd@m{d/urtuﬂéal/é”

_u:/60/’!)}/¢£url:u»£c«i;?’o’cuf¢5@»

_Hello, Tvar roll_num Air23Blue float
Case $car name =color Float

::J(F l
WF IS onth U e Y it L S 3 fe KB
_%lgtnwagesgsalaryrL’l{u’m&ﬂ‘ﬁ

(Variable Declaration)eﬁ., 5(,(/:”‘ 1.3.5
"L’/}lg;/’lﬁ’(éjd/u’ILnL/ﬁ{f}’}f’u“adz;ﬁV%Q!%LL/‘JWl)ﬁ;&gwﬂ/@:
e bl

e s
data_type variable_name;
b e S K e
unsigned int age;
float height;

int salary;

char marital_status;

-La.lfguﬁu;’@Jj@/}:‘g‘aL'J:lggﬁgﬁoﬂ'{/al/é:'ugk;ugufwug

unsigned int age, basic_salary, gross_salary;

int points_scored, steps;
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float height, marks;

char marital status, gender;

e L SEBIE Fo U e P L L e AP s
SitsurEee e Bl U umw&cwfjjuw_uwwucg+g(3&uuf+agg
L Bt e Tt Lt e

p EXAMPLE CODE 1.2 <\>

void main()
{
char grade;
int value;
o } J

(Variable Initialization) 7 #1{#> 1.3.6
LU nZ SBIE SR e el Fr B i e Bl
e T L L L TR L A o (S W

data_type variable_name = value;

‘.‘L&fy/'// le;lﬂ%’/al/é:‘»ufgftayq;ﬂ/c/? bgui‘dt“»‘)j}@/;

p EXAMPLE CODE 1.3 <\>

#include<stdio.h>

void main()

{
char grade; //Variable grade 1is declared
int value = 25; /*Variable value 1s declared and
initialized. */
grade = 'A'; //Variable grade is initialized

}

o _/
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’

L Q&gﬁfu/jmuﬁgu,-%L‘/J‘fo&‘u’uvgf%ﬂg@uﬁc&u};)awuu;ﬂ{g{o
—e bl

FLLIL /‘/ﬂﬁf,;{«[,gﬂawﬁw-% /By et S S e a e
- l:’Ua&l/’;/.“a

A 14;3(3!,2_@&@4/}(&_@3Mffl;@u@1ﬁ4uw2.@éuﬁuiyj‘f(u/@?/’;,*o
U JAVA, PYTHON,C++, C

oS d Bhry e G Bl T s BT Pl £ S e
e WAjbed Sl Lt

- U (IDE) LA s ockss b B uﬁLUg/Mgrl/’j/.:&l/’j/.:ﬁ/f;&va-o

‘%!LIDE's(V”_‘aCC/(f}'uﬁu’!/;l‘aCCmqfﬂ/j/?/!/’j/?Jﬁgt’nf;&bt{%&!&ggﬁgl_o
-u}LnJﬁfg!Jﬂ;

e bl e Qs Sl o S it L e (P Sy GBS e

43.5(Kx;iufuﬁ/lﬁfv.@ﬁ.baJnujugd/EW!LﬂéJ@fc%u.‘.' é:@.ﬁ!/j/,:/;_o
EGJ!o/fjg(Keywords)Jjj; Jyw;,-§.rﬁ4’ug'“i;; S "5&/)}"@‘.0{1 g:./J”fJa_/JLM

-u;?Lllzv'/ (Reserved Words)

P P eSS F b P ok e bR U e
RG] }ﬁLat‘T}:../uuﬁdﬁgMain -t

J./J@ot}"éu!uﬁgjgéruﬁ4-wuf§50;/,l‘¢lz;ﬁu;wf/l{f uf’&w&/‘f"‘;uj’{o
' P L L

L I A S G e A e
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#tinclude <stdio.h>

#tinclude <conio.h>
void main()

{
/*A simple C language program*/
printf(“Welcome to C language™);
getch();

}

_u:/Ung ;4é£é;a:¢§ﬁ/%"welcome toc Ianguage"/.:g;[/c0
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(Introduction) i,

U S1ea by Tl et/ U S Ue By i iz e IT WL
d;/;/gy,géz:._.@u,:/}u@¢5T:QUIJQ5¢(Programming Language)u]yjd/ugﬂ)j/.:
N e UI(Pre—BuiIt)_",J;d/?.éc;L (C-Language) é;@C AUl Ul - Ut Jg,
JC';LULMJL&‘I%.LL/(Process)u’«“:/?fléf("‘-z V4 fd;z@&(Funcitons))ﬁg
L ULy Ui\ L (Operators) Jx ;!

:(Input/Output Functions)u:"é’(llo)a:bbﬁ/a:u!l.z

ey AT ey Ul bt SALL L beilnese,uiin &Uru@? I
Standard Library) ‘/’5@6/,,/JJ 3 ke L(Keywords)];"u— JQIL é:@..f*l/’j/“ Vi ééﬁ/j
0], L(User)..}/uul)'/“@printf “iéLlA;b*/;&ST(C-Language)é;@-C_ujLn(Functions
-Zu’.‘?’zu’i@;;d(fuﬁ(Section)u"?w,‘L&/.l‘,fuj@ scanf 4{.&4&.
:Printf()1.1.2

e KU1« u&’G(BuiIt-in)u! <k L Kﬁ_lof;b‘v,: &ﬁTe u:/éu: é:@..ﬁ!/;/“ -C Printf
-Lat’ndlﬁ“lé&LlAj&:.ﬁ;?i’énJ&(;G/?Q‘}dfu{batﬁa(mint Formatted) &x6 ey
;’[/'l/j/,:Zzn_;é/?/)ﬁdt‘fujé‘Cth?&ﬁa,f@ printf.,/u‘al“fyf/?e{ruw?o/aﬁuﬁyg&;i

(e ™2

p EXAMPLE CODE 2.1 <\>

#tinclude<stdio.h>

void main ()

{

printf(“Hello World”);
}
Output:

Hello World

\ J
u‘fzu:uwi(" ")Q;I;ﬂ_%ﬁb@W!f/@ printf &5 Hello World/.:d/ﬂui'dt‘fu’l
_ﬁz.blgT(:c[/éo)ujZ”.d



FEEg 2 A

# include<stdio.h>
void main()

{
printf (“I am UPPERCASE and this is 1owercase”);

gj.iLlaguﬁ(Lower Case)Jg;’,:’e?!/w;l(Upper Case)J-Q!,:a?M K(L’L’J/’ u“‘/c

_u.‘.d?i/’j/?

(Fromate Specifier) by /6 2.1.2
r{dj printf U.?z../}ﬂ:/)iu?i/ﬁ% Jf"ld/“)ugﬂ !:“_Tiwlgtuiufgfdmd/n,.,gﬂﬁ
et

int age = 35;
-Zin(Statement)ﬂ ﬁiunz;_lgtuﬁ4 q/zwf J JHIS, I
printf("age");
e b F i P os o 1Y
age
LB e b S e W Ut st § printf (F2 6 U5 7 d B S5 age iU,
G -cour 2l FAaz Sy (S ool Sl b n 2SS 1 et
LA rbreskind £ oSt

Data Type Format Specifier
int % dor%i

float % f

char % C

/’Lﬁ/{.t«gzléiﬁﬁ/j.z@&ﬁ/.:@w ‘Table 2.1
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FEEg 2 A
ol U1 printf 2t &S 10%1 L %d 2 e 6 UV 2ot L 36 A tint A P
e Vet ng-L g St AL L At float = bs1-dnd S

~ EXAMPLE CODE 2.2 <\>

#tinclude<stdio.h>

(- g ’V/};{.{

void main()
{
float height = 5.8;
int age = 35;
printf(“My age is %d and my height is %f”, age, height);
}
Output:
My age is 35 and my height is 5.800000

Yo L sl iy abidis vl Go, 5Tt E LA JET S
e TS Ll (P b bie e (T i age (G,

.
2= 1 (Decimal Point) 241y J”J“ﬁ,:iu} L/lexﬁ‘!%féié_ujo{’j(fﬂoat =
Hoenf AT CatndSurind nd Tl iy S 50z Al btbe i
L AN S S S i e G E

printf(“My age is %d and my height is % 2f”, age, height);
_d/n&/,..b‘u;t;

My age is 35 and my height is 5.80

N J
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i A
K(Expression)ﬁ/{{lu’lﬂuJ'iwu;?Z_lgégﬂotxp!“ié J"ld/ﬁ;._ﬁ//’l.&/g’:fgvﬁ
y’gfbgdtf»mfw_unuiugunﬁ*PK‘un F ot Suln el Lo b

-
¢

i EXAMPLE CODE 2.3 <\>

# include <stdio.h>

void main ()

{
printf(“Sum of 23 and 45 is %d”, 23 + 45);

}
Output

Sum of 23 and 45 is 68
- J

Scanf() 2.1.3

S Ul S /Lo« (Built-in Function) u’“ﬁw-.:,&yguﬁ 5,@c scanf
ﬁ-ujL/wl.};d/(:}giﬁ/&fqU!LJAJ//W%/G(TU.'.’J’@scanf -éat‘ndh"”lﬁ&é&
_Q/C:;/,:Jt‘*‘,)'“}@/;-%lgtn%i (%d 7 iz 6 scanf Je bl A int o

:

#tinclude <stdio.h>

void main ()

{

char grade;
scanf(“%c”, &grade);

}
. J

S0 s 1§ Sloea VWU L L 1§ £ 2t AT %5 o et Ji U
ufﬁ‘&?-tal'ﬂlgbg;uﬁﬁfég:/?;lfwwﬁ(’f!»a:ui@scanf ‘Jgﬂ'ﬁuﬁ&adedﬁl
SALNE P Qe A2 e pinie dster ol S F i1 £ oty

—e bl &
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. EXAMPLE CODE 2.5 <\>

# include <stdio.h>
void main ()

{
int number;
printf(“Enter a number between 0-10: ”);
scanf(“%d”, &number);
printf(“The number you entered is: %d”, number);
}
Output:

Enter a number between 0-10: 4
The number you entered is: 4

o )
tL A
_ufg/ﬂu’%/kég)t‘awéLJguluygVQLML/UWU’/U:’Sscanf ng’?
scanf("%d%d%f",&a,&b,&c);
L_guu/;_‘a Gfaf,u'uf &ld/n;ﬁgf&ﬂoatv@;!bnla fﬁ'ﬁd/.,;é.,:x’lﬁ’(integer)ﬁ »J{?
~<bw($UbLs enter M!L'{.:ﬂd!r@;lﬁ;t’nt@; enter | space S osst

)

p b N P
AL nJ@;;G:.L}JIu!L%uu%ﬁ;/’L@QJu;/:“/:‘dm;..buﬁu:"%l/;/,ug

b,
Roll No : input value
Percentage : input value %
Grade : input value

i A
Jl&‘ﬁé "/Mat'lgfd‘grl/j/?/ﬂﬁf‘;/?;i &_‘a#(bo%tlydﬁ}%/v;! &uﬁuﬁgscanf
e
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ot
getch() :2.1.4
J.??/,:d/éu‘a V/%U!}{/;?J/Lo-‘a t‘ndtx’*’/luiz:&}{/ugcd/buiggetch()
jﬁ:’)ddl"’j/?.f){.(‘é t‘lggdv;“!gj.ééuf(execution)cﬁ;g)?!J(l/j44/}(taufﬁ;-t’n/"l£

header)uﬁgji’ﬂﬁ‘/l/j/? (’féﬁé_fdtxp!/f@w_ L*g;u:&jf&/.buj_fe Ufule’
_urZ S SEconio.hS, AU LA (section

:

# include<stdio.h>

FEEg 2 A

# include<conio.h>

void main ()

{
printf(“Enter any key if you want to exit program *’);
getch();
}
o )
Kiv;,u!%;z_/fifz{fl(l/j/“/ém‘aV/:JWKZ_/%(J!}{/LJ/D"UT/“J:JPJJJ451

_Lab’/’;lbf«’l

~ EXAMPLE CODE 2.7 <\>

# include<stdio.h>

# include<conio.h>

void main ()

{
char key;
printf(“Enter any key : ”’);
key = getch(); //Gets a character from user into variable key
2 J

z.{_/}éscanfﬂ_fz-gét"f,(ﬁ/'uﬁ&}gfa f’égetch/;lscanfw]u:/(&;;{/’?!ﬂ/’j/’dﬂfi
Ké_g;enterrl)j/? J-getch Jg.§. 54 L’@;enteréJ_LLUgZTf(l/C/.: u:’q]uj 2'_/’/."4:; uz}‘.’.//
_‘Lt},) CJ}L/&{?/?IW&@%}{/J%_W/MWI
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N b
(Statement Terminator) A¥/e4" 2,1.5
e bl S RO N U Co P vt SRS s
- tbTerror G e AT (7/7

printf(“Hello wOr‘ld”Tsetr?‘t,l?rmg:,!

(Escape Sequence)u’.‘;g%ﬁl 2.1.6

0

e
6 )Ldy”‘u—“ﬁ printf2_3Z i v W;uwiq,wﬁu—“ﬁ printfu%?%ﬁ
e fd;éﬁiié’/wéat%q&ﬁ/w‘;
printf("My name is\"Ali\"");
-4.,@&37&%5’&@;@
My name is "Ali"
_‘Lwﬂ/?q/*/"" printf féa;a&éagﬁ?#l.ﬁ "\"uﬁdt"f{dy’;!
:..‘;)L‘«:d/u’.';..‘/’.,{;ﬁl
,}W}?/’/I/;:J;!‘at’n"\"(back slash)gﬁ&&%ﬁ/&{,w&n}{ﬁ;uﬁuﬂ;#1 .
z:u"’;g’?ﬂg‘:l/;,fyftat‘lgu/(escape character)}g/?,fi/(\)ﬁu-@- ‘LVT&WLW
g Lol Uy o FASIE Tl S S 1 e bn i L5 S 508 S E15,
PSR Y. 2

_wLﬂJW’a/f/w;g?gcle@/}Z:é}@-c pate I t[/%/;?.;ﬁu?u:ﬂw
e Sk e Sk

‘grfuf,;u? </ \a [ () L‘%x@/ﬂ.@ff’ \'
<t \b [V W AU\
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(New Line)"\n"uflﬂ)j

ATH et S f L A (curson) et/ Dinm L S5
UL L e b LS U e L,
:

#include <stdio.h>
void main ()

{
printf(“My name is Ali. \n”);
printf(“I live in Lahore.”);
}
Output

My name is Ali.

L I live in Lahore. )

:..*J(’Z l
_JL'D,:JU@VQ:{. 23T IUs fﬂprintfo;.lijavgu’ggm/ﬁ/ﬂz:gf(}?%ﬂl
-‘ggngl;agdc;dl’?u’l

E EXAMPLE CODE 2.9 <\>

#include<stdio.h>
void main()

{

printf(“My name is”);
printf(“ Ahmad”);

}

Output

My name is Ahmad

)

(Tab)"\t" h:/,{'b
;’.?,e/.,;,g-‘att%ﬁab Stop)?«l‘:ﬂ?jﬁl/vﬂbﬁf‘gL"l?./f’@'l/O, \tu"";?%ﬂu
bbbt E e & SNt
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(- g ’V/};{.{

-

{
}

Name:

#tinclude<stdio.h>
void main ()

Output

Fname:
Marks:

EXAMPLE CODE 2.10 <\>

printf("Name: \tAli\nFname: \tHammad\nMarks: \t1000");

Ali
Hammad
1000

/

(Operators) Jfsl 2.2

Z,..;C*l/‘j/?ﬁ_‘a L'/’/(Computation)uﬁ:jf;{’gﬂ!gqb/u’lf‘a (0 51;4&&/‘1:;{
At AL Ple enulea L L8 S Uy bsour & A4 L s
cend Lo Ty 3 G et £ S e FALTL Gt oy

:uggj}@/;ujg;()ﬁ/,:!’d}y?m{-wi 2l

(A$gnmmﬂ0pmmnm»ﬁ4ﬁbﬁblo
(Relational Operators)J/’a/vfﬂ/ °
(Arithmatic Operators)/’/"../“lﬂ..,@”i! °

(Logical Operators))ﬁ./.:T@V °

(Assignment Operators))/‘a/j@i?lw 1.2.2

Jﬁ!d/nﬁg/»cﬂf J&Id/,,) Vgg“iz_/,L/(Assign)ﬂﬁcaf:’uﬁ'!d43/ﬁ.4:7¢¢1"/L/I

—e b T D e S St L
=/,»"£th».+t@gdw,“iéﬁ/?,,w’wfg-v:uu;é,@_c

int sum=5;

_ujé;Jt‘/Vg?!_u{ngﬁﬁﬁSJuﬁsumdﬁ'ld/.,)p{cc'gnﬁa}:?fluiﬂdd/f/
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int sum=6;

int var=sum;

-d;/..,«/b“gvardf'*!d/“mﬂgd/sumuﬁcfﬂﬁ/igf%ogJsumdf"ld/’.)%

P z 7P Aa
- (Programming Time)(’# u@l/G/,: 2.1 E

_GJ/J)@JJ:TKU}"}J;A/?‘X !;;;?inrl/){,ug
void main()
{
inta=2, b=23, temp;
temp = a;
a=b;
b = temp;
printf("Value of a after swapping: %d\n", a);
printf("Value of b after swapping: %d\n", b);
}
o )

(Arithmatic Operators)jz /7 [ 2.2.2
Jumufﬂ.ﬁfiu“z2J”_u~a_ydw:2.£¢_)rw/ﬂﬂ1 53T
296@)&.‘}/

2 rt g

e SIS SRS v | ¥ |
et/ AUy | paie s |

‘at“/ Z“f’:’/u}".’:’.»d 'L/,:Kg' +

S PSS e B SSAS v | 4T

AL g B SIS eSS | |
" il 1Vs}]
_Lal‘e,;f/db'?é :
S BoI k2.2

:(Division)ﬁd
_bﬁ{’u’!/?ubz:Jt‘»_‘at'/&dd/ﬁa/jufbfogJ(Operand),‘;;/./?,!uf;/‘;/vnt{(:m
Uy
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FEEg 2 A

float result=3.0/2.0;

tL A
ML Lo Aoz bk tin iz Il und tCint) A iU/

SIS s S0
float result = 3.0/ 2;
Fipd AP ed o156 Az ilun JAtint UL Ui ]
e Jm;ﬁiwf 1.Ouﬁresultd-’"!d4; éu’l“a Vlgnd,g?’uﬁ?f’ﬂ’_wﬁ( 1)dingd/yrz‘¢result
_uf’f;fdum&,ﬁnw K?/lﬁ’&}ls};/,:j@J’:(‘ad»/"fndlp;lwu?lﬁé:uj“‘alg("'/i

float result =3.0/ 2;

-LLL’};; 1.5duﬁresult}"uﬁdt‘«‘&(d:/?,l

P z 7 X
~ (Programming Time) V@I/G/.: 2.2 E

/*This program takes as input the price of a box of chocolates and
the total number of chocolates in the box. The program finds and
displays the price of one chocolate.*/

# include <stdio.h>
void main ()
{
float box_price, num_of_chocolates, unit_price;
printf (“Please enter the price of whole box of chocolates: ”);
scanf (“%f”, &ox_price);
printf (“Please enter the number of chocolates in the box: );
scanf(“%f”, &um_of_chocolates);
unit_price = box_price / num_of_chocolates;
printf(“The price of a single chocolate is %f”, unit_price);
}
Output:
Please enter the price of whole box of chocolates: 150

Please enter the number of chocolates in the box: 50

\_ The price of a single chocolate is 3.000000 )
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:(Multiplication) — ~
%WJ’)C»L&l?’/(.«/’!jwlui-‘a/ﬁ./jd/lfu-g(*)/‘l./jgg.«/‘

int multiply= 5*5;
_LLZSJJmulﬁplydﬁ'!d/“;ML&Lﬁw

PA Z '+
- (Programming Time)(’ﬁ u@I/G/.: 2.3 E

/* Following program takes as input the length and width of a
rectangle. Program calculates and displays the area of rectangle on
screen. */

# include<stdio.h>
void main ()
{
float length, width, area;
printf(“Please enter the length of rectangle: ”);
scanf(“%f”, &length);
printf(“Please enter the width of rectangle: ”);
scanf (“%f”, &width);
area = length * width;
printf(“Area of rectangle is : %f”, area);
}
Output
Please enter the length of rectangle: 6.5
Please enter the length of rectangle: 3
Area of rectangle is : 19.500000

-LQVPK;./LJ!/}!L%U’&WJJ)VQL/’%}?Jfﬁlﬁéuﬁ

3
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:(Addition) &
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int add=10+10;

20 S add iy 6

- = 4
- (Programming Time)(’lf _,@l/‘;/.: 2.4 E

/* This program takes marks of two subjects from user and displays
the sum of marks on console. */
#include <stdio.h>
void main ()
{
int sum, math, science;
printf(“Enter marks of Mathematics: ”);
scanf(“%d”, &math);
printf(“Enter marks of Science: ”);
scanf(“%d”, &science);
sum = math + science;
printf(“Sum of marks is : %d”, sum);
}
Output
Enter marks of Mathematics: 90
Enter marks of Science: 80
Sum of marks is : 170

/.:,ﬁf’wuﬁé,@-c_g‘,gmjwéé'g/@wm Sed SadHi ramatl; et
-‘Lbﬁdv’”'éﬁé-/u/ S1cted Sadeisssa; L asg ASiur E A +ra; Lavs;
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:(Subtraction) Q’/J
S e e T I e T e S T 16O P
int result=20-15;

_+5angesultdﬁ'ld4) /JJLQ/“

igie JJ‘lJu“lnLuulc,wLaC‘//u;K/wJJ‘lJf’ff’,qi//.,0
_Lleg/“ujfca»f AP SPIN #

:(Modulus Operator)/‘:«./,:;lu"»‘l.
UHibea b8 OV e L e e e T e T V(90 TS
e b e Ut Al

int remaining = 14 % 3;
_an ox,’fd/remainingdﬁ'l&’/“;iu’lgé"égz '7@/&3114(?/!
(Programming Time)(/'ﬁ ..‘@I/C/.: 2.5 E

-
/* This program finds and displays the right most digit of an input
number. */
#include <stdio.h>
void main()
{
int num, digit;
printf(“Enter a number: ”);
scanf(“%d”, &num);
digit = num % 10;
printf(“Right most digit of number you entered is: %d”,
digit);
}
Output
Enter a number: 789
Right most digit of number you entered is : 9

N J
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&5T/g:.,«/"cchg/»fah Linld_ el Al Urke2 e T Laﬁf?ﬂ/@: L

e

e S e LuwuL%uu}:@uﬁ”’%ﬁ/vug

i A
6y5 6% B LI UIALpins LA iz szl Al
-c‘;t‘T(compiIer error)//“l/"/guﬁé;ziu’l-oj;ng’ Sl

=)

g AEIC A AL

Xx=6y+z
X =yz+ 3y
S
Z=X+

z=(x-2)+3y
y=(xt o)+ 20+

(Relational Operators)J/‘../?TJ"%"L'/ 2.23

U\ TS byl JEE g2 S Kuuééz;/u:;{d‘z u;g»/‘aj JF,
(NumeriQ Sz T FEE AL -Coo $ Lo e Y rmadlir it
e Fo S TS LG e 2. 3A 2 S Je1,83L _FbChar s



uigﬁ'/]g 2/&4&

N s T
‘L/J/,L ==
il 1=
0l Je >

Z .

VAV P >=
/J/.,Lf/ C <=

iV&Mﬁ@TﬂJd)Q:Z.3JJ
J(Boolean Expression)g”i/;/gl ﬁ;{ w@éﬁ”d.?"é,—’ﬂ?"ﬁ/,”,ﬁ% .:T,,)/‘g/.:l’ﬁ‘é‘/
d//;lﬁaOc«x}in(faIse)wﬁulugflagfn(true)g/ﬁ_wg(;;(true or false)ﬁuféj‘_;uﬁc«/ﬂ
VT2 Sy

I M Lf?'/f"('ﬂ/
true L5 4145 5==5
true LT S 51=7
false ?47‘4125 5>7
true fe 7 25 5<7
true ?A:S‘L/,l/,.t.‘alz 5 5>=5
false $LAc e tE5 5<=4

ol AL JeSok T 2.4
(Assignment operator(=)&Equal to Operator(==)) (==)/‘../7Tl(/,l/.ul(=)/‘./j¢ﬁ"lxl 2.2.4

VT RACT-V-AW. Ty TP L"ndl;»?ﬂicﬁé_/..gg,j«./j(==)uﬁé;@-c
sSSP S 0/ G ey T(==) J& IS e 8 sl A PORNY.
_.,y'“a, JMd/“,Ll,J/uj’yfja/jufu(ﬂ/‘;/j(smgle Equal)ﬂfidﬁf_uﬁ ey

e tS
i A

_u.‘.”ggfb&"':/?/)éidL’:‘f_ujé/dlfpld{uf/@printfid:é;u;g?gfﬂ/{g! ﬂ/ﬂ

printf("%d",5==5); //This statement dispay 1
printf("%d",5>7); //This statement dispay O
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(x+4)==y (2+5)>y
(y/2)>=x x!=(y-4)
(x+3)<=20 -1<x

y=7 fx=3ug,w¢f"u/uu/,u)r~ug4,,?.uf N C:@’;g;

(Logical Operators) J/‘/’Gb" 2.2.5

a/('fw_aqu)/f!uJ}’quliulu*(_;rlﬂ/u’Q!/“/’/{IJJ;’///!JQU
&léu"u(//’(id”%ubc.uﬁ///!#Uéj.u’!c.tfu)/(!j}ivli&f/IJ""L/fu*é
L i JELLR 25 i ndenid £

b 4
ORG%‘ [l
AND P &&
NoT & |

S 2.5

Ik Jui»/gL"ftrueu";wﬂdl..,liu

e A6 TAND 2 2.6

:(&8&) % /TAND

,‘L; /’/(WJ;’:;(&&)//!AND
L/falseuli:’y' false,v/! J{Jdﬂ_u;ftrue

Expression Result
False && False False
False && True False
True && False False
True && True True
A6 TAND:2.6
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FEEg 2 A

(] I)/?./“TOR
K/"../.:TORu.'.'ZJJJ_ntruefj:q/’l’.,gé//ﬁéat‘ntruegiﬁul‘g@ﬁ;{{lﬂz ",/‘:TOR ) )

_‘L.Qfg)‘}dm’)/)’

Expression Result

False || False False

False || True True

True || False True

True || True True

&Z}Kﬁ/joR 2.7

:(!)/’I-./?TNOT

»le L?.)/(false)w J v (true) M/)&{;'ﬁ‘}"}'g.t?.)b")l/&g d/cﬁ/{gluﬁj;fﬁ/jNOT
-‘ala;/(true)aa/n;n(false)bli

Expression Result

I(True) False

I(False) True
%Jﬂ;i,}{ﬁ/jNOTz.stf

eSS

_LaolfggbcuJu)t"«‘/rg(/"../jﬁUUﬁZSJﬁ

-2 «.}5‘; Cﬁ’ ~.~"U§?U

false e 8cI%7AND 4 (%3 3<4&&7>8

true fe Lo 143 ORL4c 4123 3==4||3>1

false (L 2¢ 4122 ORe 2 124)NOT 1(4>2]]2==2)

true (2 121)NOT ANDL 611k < b5 6 6<=6&&!(1>2)

true (Lo szl b4 1)NOT OR= 9 1% 8 8>9||!(1<=0)
2ol AL Sk T 2 0
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123 S P g detatse ovs 3 A WS TR 1 S P IAND S

- Ulxfalse

12 AL PP iy Tntrve comn SAL VS P 1w E S mORS12

& bstrue

J

ewn)

_uf(?.u%;’g!dlﬁxﬂ, y=7, z=8ujuf°’§gf)f"ld/“)£9;q}/f/.

x==2 | y==8 7>=y && z<5
z>=5 || x<=-3 y==7 && !(true)
xl=y || y<5 I(z>x)

(Uniry vs Binary Operators))/‘iv./.;lu/"’y,1:L’i«:&j/ﬁzj 2.2.6
U b LTS T USRI T U
Pl 2 T6 LK 2 TNOT 20 B e s 2 Tl 3o & o TS0y 1 TS0 -1
5 28 e Jelir T8 E LT
S | 8188t T sl ) P B s b T £ (T §A (T 6 -2
A
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(Operators Precedence) é?«f)jz{,f 2.2.7

LI L G IIL L S bty IS s Tk ie it b))
A bW P = T pmnnli T8I/ G620 T8 d L
WSy VITS) SV PRIV erE

Example:
result =18 /2*3+7%3+ (5*4); // evaluate ()
result=18 /2*3+7%3+20; // evaluate /
result=9*3+7%3+ 20; // evaluate *
result =27 +7%3 + 20; // evaluate %
result =27 +1 + 20; // evaluate +
result = 28 + 20; // evaluate +
result = 48;
Operator Precedence
() 1
I 2
% 3
+, - 4
>, <, >=, <= 5
==, !: 6
& & 7
| 8
— 9
é}‘fumuﬁ/jzz.lo‘jf @
6/ (5 + 3) -fﬁaglﬁéﬂ/{gul
7+3*(12 +2)
25% 3 *4
34-9*%2/ (3 *3)
18/ (15-3 *2)
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< C)l‘,‘L 3}1 onﬁdﬁ(.‘é{/’..ijéﬁ LlaC&; 3Tl s P40/ i “&grl/j/? ufq

_ujLn}i@O!&&L%g(Keywords))ﬁu-d/'%lﬁ é;@.,@’/j/?/;ééﬂ/j% 23T/

j:ps/?q)@m‘éué;(wint Formatted),‘i‘er/li:f‘/?rtKJI_‘LJ@@.;J,VQK(!;:@-C Printf o

—e bl L e, et

idt e S aboe brWd LB Uy A Tl U b o

-‘Lt‘fcfl/(%)ﬁ

‘+w%u’¢_ﬁ/w%g‘-%u.ggéﬁ’-c scanf o

e s SISt d L2 o M e ot geteh() o

T o Fre o Ir

e b e e EOME SR P NS SRS I

e 5 P S i P e e St bl printf P o

'+J!€KU!‘L

Lu;/.:u}’/Uu.l:)L.g/dy.:.Lfl’u’.';’:/‘.{gcl,-c‘,L‘lgL@CJ/‘LJUL?///,J/C‘_t‘t’z\nu:”;..c’_‘ﬁpl o

-‘Lt'}’fdt’:"’éé

e e Gt e ted b2 B oL

TS T st T T ¥ T B o

vl og) BNt L PR s L0 S G TR
& RE RN

TS\ 2 pTSAL T
-é;b//(l(gu’flflz;” (integer)ff‘l/i Ju’lu"l.

- /
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- ~

uj’g,m_w/‘/‘a/v,ldﬁg/’/‘a/r,lJ’/i“&/,»ﬁujL/'}qulééé_/u?@'“Zu;%}jjz/,,d’% .
USRS e S

,4‘.Jm,&,dz‘y,,g_,uzmug;;rglﬁ/’,% Ak (I S Ve

{7y SNORZYGUsttrue A2 EIL S AU % ,1/79 Fyetrue 12 6% s/AND L.
-ntrueﬁ»,;glféfc,uﬁuiuyebam true

_ntruegﬁf,’gﬂﬁ%t’nfalse./lﬁumfaIseﬁ/{gl/ﬁ‘at’ntrue.,iﬁgjz/’;lNOT Jé?u o

_‘at’ilv‘((Short circuiting)...@//.wLﬁg;?!ﬁgﬁ/’wéffﬁ/{ggg .

AP 5 ol st Ll PP S o WS P S Ut S G gl o
,wLn/K/;éLZ,;

nu&)(i’}'d/ulta&né?ﬁ&ﬁ.&lﬁ.g&;(({l%ﬁél’b&uﬂgagﬁ:aé? u(J/"../?;l o
e b I AT e TSPt et
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(7)— u" ’Lf/',:g.{

&

e s 2

-c.b’rdla/liéd_/u/ (” printf_1
uf‘&?(; char(% float(— int(_3/
—__ u"é A 4, -C scanf_2
G e So A L:J,,W(J’
-g.t%db’*’l“ic':é}.’.._*@ut_c;J/Lagetch()-3
uf‘&?(; char(% float(— int(_3/
?djz.lﬁ:a{" Sa ﬁ'”pféé_xé};g)? [ K(Code)}s 4
inta=4;
floatb = 2.2;
a=a*b;
8.2(> 8.0(% 8(— 8.8(
94‘-5'3116')3/ Y JEUIZS
uﬁ;u’ﬁf(; line=this is a line(% grade='A'(— int=20;( 3l
Sensl e o Gk e JhI-6
1(s >(¢ =( (I
Vc.f("d}/uu’tu‘ufc;u“ui 7
24 TG N © //IJ‘”L/(V ) (]
cetndeid LS % 6/c4 7.8
&G S5 (KA;;‘Z.J)//':‘."/(».« Z-;Q(JJ’

-ﬁ'.uj)uﬁé:@-C}g/Vufc;ufu!-Q

SESG a'(¢ "a"(— "here"( 3l
Q%MJ)U{"J}(U:L/LLéQ C 10)

-‘au.'?;é;@(case Sensitive)WJ{.,gC ()

e LU L b oS- 8 ()
_ujLnJ/"../?Td/l,Jﬁ/vTﬁU(Q @)

,thf{&:’/ »
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r’f)— u" ’V/};{.{

-Q/Lal’?!{:.«/»w:Z/r‘Ul}"

Bl s e 39320000 ny e d S AL D)
bl ferss ce CTA A Pl e 2)
s cenlie p L ATISEILE D)
L _Lab’nJWléé&&;dl&ﬁK(:}::.J/Lagetch() 4)
ks -Lat‘ﬂJL&l“izi'/'?/.:Tg’,,f,&fTscanf 5)

FEL () Sepesk

ST

_u:‘{:y PSS 5823 )1y
() e (D

(5) Scan f (4)

L2 L Udria )y

?LLJ/'.L.,@.‘Igetch()m Scanf 1)

fe b’ndl.’x"!“iﬁLléjhié;&ff/.:q’/cuigl,ﬁfgéﬁ—c 2)

S S fund th e U Tes e dTesyl 3)

‘e dwud e lunfu i E 8

St e TSR B4 5)
el Je ik T 6
Sl e e TR )

S OPS TS A sl 165 8)

S Oy T =ity T== 9)

S i GG TS A Cl e T2, T 10)
a) # include<stdio.h> _ui"@x.f.daﬁd/ur"uléfﬁs/:}dv

void main()
{
int x=2, y=3, z=6;
int ansl,ans2, ans3;
sl=x/z*y;
ans2=y+z/y*2;
ans3 =z / x+x*y;
printf(“%d %d %d”, ansl, ans2, ans3 );
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b)

d)

e)

a)

# include<stdio.h>

void main ()

{
printf ( "nn \n\n nnn\nn\nt\t" ) ;
printf ( "nn /n/n nn/n\n" ) ;

}

#include<stdio.h>
void main()

{
inta=4, b;
float c = 2.3;
b=c*a;
printf(“%d”, b);
¥
#include<stdio.h>
void main()
{
inta=4*3/(5+1)+7%4;
printf(“%d”, a);
¥
#include<stdio.h>
void main()
{
printf(“%d”, (( (5>3)8& (4>6)) || (7>3)));
¥

ST W AU S5t nl 36 A

#tinclude<stdio.h>
void main ()

{

inta, b=13;

b=a%2;

printf(“Value of b is : %d, b);
}
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b) #include<stdio.h>
void main ()

{
inta, b, c,
printf(“Enter First Number: );
scanf(“%d”, &a);
printf(“Enter second number : *);
scanf(“%d”, &b);
a+b=c;

]

c) #include<stdio.h>;

main ()

{
int num;
printf(Enter number: ”);
scanf(%d, &num);

}s

d) include<stdio.h>

int main ()

{
float f;
printf[“Enter value: ”];
scanf(“%c”, &f);

¥

VB

>
g K P ST

-
¢

o

Basic Salary =Pay Rate Per Hour =~ X Working Hours Of Employee
Overtime Salary =Overtime Pay Rate X Overtime Hours Of Employee

Total Salary = Basic Salary + Overtime Salary

r.ané.,vKn?‘vfz_bu;uu%&y&uwgé'gfrKd;gépuzu:”gﬂﬁ/?,g
_LU;/.:Q:/C
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WIS NS V8 ...bjllu;@c;!/;thi/;ul[aﬂ]g};uﬁf}.j&%}f‘ql)j/’ug
_‘gdﬂ}"/ﬁgL/uﬁ M&u;ﬁcz/@?fc«ﬂ]gﬁ

F= gc+ 32
5 .
:3[}‘9
_Llelj&;’..bf@LnL/JWl/ﬂprintfug}?u:‘.d%/'j/?vg
* * * *
4 3 2 1
:4[}{"'
Luj.*’/j.&f‘!: LnL/JW!/ﬁprintfugﬁui’?u’j/?Vg
lam a Boy

[ live in Pakistan
I am a proud Pakistani

57
uf’?uf/? 4,4.szju:%’"éwa/,wuiuug‘c‘-tz;.usm15%4 Al kibe i
BB 1T R T (AN T AP I (RN T
423= 1%
320= 2%
270 = 3%
680 = 4%
520 = 5%
_q)l;ﬁuﬁ%ud4,5ﬁd/u;%5 12y
:60&’”
e S swap) S AL L e AKUFE SIS 1 Fii S
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e Sl S c’;md;'ﬁ,rngj,uLbu;uu%/w,uymszgi’%ﬁ/, L

:8[}“/
LR e Do bl L) waq} Kﬁ#;@v’wgtm,!?‘}uzu:"%/j/?bg
S M;/u!rl/j/rL
=LA

=LA
el

=zl
2l
=l A1l L 22 ]

907"
- b 5 =
_Serule CilosldS (Steps)m,;/?/,g,zu:%ﬁ/,,g
_g/.?zﬁfﬁ“ai;}{/u%ﬂ/’j/’
SAMPLE OUTPUT
Enter Character : a
Enter Step : 2

New Character : C

11007
ey q/ﬂéﬁﬁ,}/&_}uﬂﬁ/v _L.if;u!(Radius)u’l;/&./’uﬁf?!/@? Y



i
.m- .,
i © e e e o o --
A dwe s5 8 i
I/U).nu &2 nTL. "
’wwﬂnwbwbwﬁaw
2 Y33 __
. VUVOL%WL./V../
FYESY
s . 2 D
e ‘.
R

(Student Learning Outcomes)
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(Introduction) Ji/ ¥

Sl SCLIE & SNl S oL b, 1 i s
LLSHI AL ey Kun e 1T KU S S A e 1T
by e It L S S s Sy b P I P e sbn 6, RS Ss A el
-4_L“ndfdl.»“wK&”‘w}*‘uﬁé;@v@l/;/?-cfiu:’?ﬂuﬁ.,gm,ugjiﬁ”

"
(Control Statements)u%'a; 3.1

K(instructions)o.L‘u,(TaG’;!‘f"}_‘at”’/?t/d:ﬁyyﬁrﬂ/jéwéﬁ'g/ffdirug
Pl pt e (o) b lin s Sogos St en $ag b S AZ Lt ot e
B E T 8L PR s e e e G
S

‘I&*’:ID)}J(Sequen‘tial)‘J":"z"’;..ﬁ -1

u%;ﬁ/(Conditional)ﬂ,@/ 2

U Repition) A, _3

S IL S e e o Lk PP
LA T e AR L DI L b L
L

b
(Selection Statement)‘/’%j.@g.z
A S I U 3 St e S22
S
Mﬁb/lf -1
wlf—else 2
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(o If 3.2.1
ClnSub e Uit E S S es e sl At
U
:(Structure).jlﬁg&}?if
S ifel & c
it (47)
WU
_‘dez‘”;i?u(u/ﬁéviwﬁ If

_‘aglgﬂ;‘uﬁej”mﬁégf?‘afﬂ—({vg Ifoe .,./"‘/ L 1)
A A A P A e e E AL )
e Bl G TSl A S b e

a- 5 (true)
b- 5+4 (true)
c- 5-5 (false)
d- 5>4 (true)
e- 5== (false)
f- (4 >)5) (true)
g- (5>4)&&(10<9) (false)
h- (5>4)]|(9<10) (true)

£ 6c ﬁ/:/glfwuj True b ssla ‘ﬁggﬂ/’ﬂé < bw true b PP JJ}‘ﬁ/{g! L
i L/Jbv“"i/u;‘}d/ﬁl SIZIV AT L0 Vi £ lpé J ‘f/)"'! Szsm cﬁﬁ:/{l_‘gfalse
_‘Lalgd&‘agﬁue/falseg!ﬁ/{g
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.wgﬁw-w&cn%;gjavgg ,gu:w‘dm,igw"“fwﬂ L oo/ 3)
-q_tﬂuﬂdyud;c»(ﬂlfuﬁ

Associated Code

SPAFp e n L ST et S P e e e i ]
_‘L.tfgfjuuﬁdf’fjidL“nu.?;du/ddgu,?éimﬁuﬁu@ﬂél}}z&/’;d}ﬂ@ug

p EXAMPLE CODE 3.1 <\>

#include<stdio.h>
void main()

{

inta=12;

if (a%2==9)

{
printf(“The variable a contains an even value.”);
printf(“\nYou are doing a great job.”);

¥

Output:

The variable a contains an even value.
You are doing a great job.




P 3 A Ao td

O™ printushn e Seriigs Sl Uie oI 2 a2 0p 2 6
S LB el il S

.

#include<stdio.h>
void main()

{

int a = 4;
int b =5;
if (a>b)
printf(“The value of a is greater thanb.”);
printf(“\nYou are doing a great job.”);

}
Output:

You are doing a great job.

L
s AL TS UL S {Jes it Tl & e 1 2 %,ugnumg;;fw
e if/ﬂ&%.ﬁ/'gﬂﬁ/,frf G5
S i A-C

el L A L s

z z 7 X
p (Programming Time) NAVER @

be, be _
_L/.:/‘/,: "Pass"JmJQJLSO@V/?/'/U;IJ_4@1@2&#@wﬁf?l/’;/?vg %

/

#include <stdio.h>
void main()
{
float percentage;
printf (“Enter the percentage: ”);
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scanf (“%f”, &percentage);

if (percentage > 50)
printf (“PASS\n”);

}
HES 1

_J}’Zu:‘;d/z}/::ﬂ'% [450:47,15/1{%?).(!/64;&3)%(;)147*2

Enter the percentage : 47 @

,c&uﬁ;z /&/;!‘4124;5&67.3,@./!}?&/? "Pass"y Jr’@“&(‘j;_ﬁf;u 167.3>

7

Enter the percentage : 67.3

PASS

(Programming Time)(l’t‘ jl/‘i{,

-‘acjl’«.cuu()_nl? J);?/,c»aiﬁb/uﬁjuz;_u&@u'g/ﬂug

Gross Salary = Basic Salary+( Number of Items Sold x 8 )+ Bonus

JU6:10¢ 000(Bonus) ¥ de 0519 S L1 2 Snlensl e 1005056 101 b 5T
_Knou);{

(No. of Solid Items, [2/ G R G d_bd;t Basic Salary J % u:‘.’iri/’j/’ .,g

-4_/&41514_/’;?(&055 Salaryd/(JLL/:!Lc;JJLaq,up% No.of Broken Items)

(S
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|
#include<stdio.h>
void main()
{
int basic_salary, 1items_sold, items_broken,
gross_salary;
int bonus = 0;
printf(“Enter the basic salary: “);
scanf(“%d”, &asic_salary);
printf(“Enter the number of items sold: “);
scanf(“%d”, &items_sold);
printf(“Enter the number of items broken: “);
scanf(“%d”, &items_broken);
if (items_sold > 100 && items_broken == 9)
bonus = 10000;
gross_salary = basic_salary + (items_sold * 8) + bonus;
printf(“Gross salary of the employee is %d”,
gross_salary);
}
teo oy
_Kn/ﬁOdJn[c; 100)1»76/@1(3!;2_(?6;/?’.{5/-‘&{&-(’//1}5”'!4;0:@";1ufdt"*‘fd)/?ﬂ
(Bonus)Uy 5w L Sl sl s 1005058 180 b G U S e bl Uy 2kt £ o5 if
—L>§ Gross Salary)/‘a“iu‘l,:_‘a.kf’%y { }.J/Ugifvﬁ(../l)l{Gross Salary -« b 4/ 10000
A Lusesl i 100210 b el s

/
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-~ ‘//Q‘ 20 lg}l’cir l/’j/“ 4 ’.JJ" RIS

Start
Bonus=0

INPUT
basicsalary,
itemssold,
itemsbroken

bonus=10000

N

grosssalary=basicsalary +(itemssold*8)+bonus |

Print
grosssalary
Stop

JL194 13//7@)};%’ "Teenager"/?c[/’»lL/?ubé&,U!/Ju“';u/ﬁu:‘.‘”gﬂ)j/?w
_nu&wi

l{.{;l-é./’;;lﬁ"Leap Year"4gi/¢fﬂ K%JL«,,/’T.L/?MLQ:M/JVX@”’V/UZ:J
Lo ae Jens
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LT ti.‘?}uf/?cw_q/ (indent)ex sl 0 b 521_154.,;/&@/;15& If

e lbn

i if-else 3.2.2
S I e b e a g LS ffle QAL AE
(cut.wﬂuiu"%_a:’/»JJZJ,Ll.mu’/gb/“ffggqugKggfﬁfun“‘algﬁﬁ_L/uf}:
ﬁelse;;;uj&guﬁi;/..«r}‘awIfingnd/{L/“ﬁuﬁu’l_ujL/JL’plﬂIf—else

-uJCf% ﬁ) b.*f;" =

. b
—c 22 b3 Ifelse

If (S
5}(01/*4}’;‘
else

j)J;}/’/ 574)";‘

o b }f’u’l -géf. 5}’/::)/'/5.«)’;":_ welse ) géf.f/u/'/.,«r;”c; w if Yo 6/{’ .L/"/fl
_‘Lt'n/;wélwfgﬂlf-else

Code Associated Code Associated
with with
EL SE statement |IF statement
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_‘Ldﬂﬁt}'zﬁIfééﬁelse&;ﬂelseib&Jﬁb/lfugftaug

}.&&/)C“.t'ﬂdjﬁ/ztﬁgjlléu@; {} uﬁ;liundjfujx;;pz;ugdl":If/ﬁéj.;:_]ﬁu-u(else
_Q:Zj/?J@fd}éééﬁ)ﬁﬁgﬂ_‘gl&uﬂ

p EXAMPLE CODE 3.3 <\>

#include<stdio.h> ERROR| €1s€ without an
void main() \ associated if
{
int a = 15;
if (a%2==0)
printf(“The variable a contains an even value.”);
printf(“\nYou are doing a great job.”);
else <
printf(“The variable a contains an odd value.”);
}
. J

A GLS AL L AL S (Y e B oA o
S e e LI Printf(" VariableThe") (P (Ut e s Ui-e b
ifu"{,.a?w;else"im_‘aut‘.f}vr;"cﬂ Printf("\nyou are not doing great jobThe") U"J'
AL L STHE S fin Wi o4 i Shelse S E b e e o
S E S E WY S Udndindt < elsein-§
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_‘QL“/:«?L}:U(J!;‘/J}@/;

- EXAMPLE CODE 3.4 <\>

#include<stdio.h>
void main()
{
int a = 15;
if (a%2==0)
{
printf(“The variable a contains an even value.”);
printf(“\nYou are doing a great job.”);
}
else
printf(“The variable a contains an odd value.”);
}
Output:
The variable a contains an odd value.
. J
:le«"‘lgﬁlf-else
< "NOT DIGIT":sc b/t "DIGIT mm,/,,,c.u ui//.fru Py
-Lgl,/'/
- EXAMPLE CODE 3.5 <\>
#include <stdio.h>
void main()
{
char input;
printf (“Please enter a character: “);
scanf (“%c”, &input);
if (input >= '@' && input <= '9")
printf (“DIGIT\n”);
else
printf (“NOT DIGIT\n”);
}
o
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B DIGIT" o S5 Sve S Tmir o]
Sy 2 o B "NOT DIGIT" kS e T S Y]

Please enter a character: k
NOT DIGIT

You have "Jizast e 98.62 e 2 et Zonb L P Lz oy, Al

- /22, "You don't have fever"sse_ /i, "fever

ALone bt em S S LU Tunebmlie Ll o4 elsel 4 if. /)
w4 ch;ul/ogu,@p,!?t“/.,r“c;w/;f“u.{u/
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2 t’nd{'lﬁﬁj?‘aanué&}?If—else-ifuguﬁé;@-c

if (P
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else if (u%,ﬁ(d/»)
b S iy b S8 e 2
else if (24 Nth)
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else
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p (Programming Time)r"L‘

_i b4 U,WLJ.@’Z%wuz..uguuég{w/éﬁuwffn/},..g

Percentage Grade
80% and above A
70% - 80% B
60% - 70% C
50% - 60% D
Below 50% F

Program:
#include<stdio.h>
void main()
{
float percentage;
printf (“Enter the percentage: );
scanf (“%f”, &percentage);
if (percentage >= 80)
printf (“A\n”);
else if (percentage >= 70)
printf (“B\n”);
else if (percentage >= 60)
printf (“C\n”);
else if (percentage >= 50)
printf (“D\n”);
else
printf (“F\n”);
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(Nested Selection Structures)zﬁ.{/‘““" Je%3.2.3
e HE L L L (felse
If (1)
S
else
S
S e e L G e (T n T S e 2 elsel i
u’ﬁf/if-elsegif d!yﬂgj!(’ff‘a&;*ﬁ/KJI-@émguﬁfif-else Qif,y‘]ﬂ/llé.flbelsegif
/ﬁﬂmj'é%ﬂﬂ%é%fﬁ%/&ﬁﬁ({:/}’%éﬂ% if-elselif 4 »($u1
BTNV ay s VI AN A 07 s W,

, (PG
'f(ﬁﬂ&{‘) if(u%fﬁ.'/d/»)
if (ﬁﬂd/;}) 5});)/.«)"“
ey else

else

5}(0)/’/ h?d}’):‘

if (25 4)
j/,;);,;/

j};)/’/ b./)’;“

else

if ()
if (4 )
5’/0;/;4’;"
else
ey
else
if (H54)
ey

i (A 179)
if (245 29)
5/»)/';«;/:‘
else

j)’;)/( 0.74}';“

if (u“%/ (D)
ey
else

j}’;)/ u:/}’;"

else
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i e il e A e
(Programming Time) /¢ -5, 3.4 E
e B ILEI L L FSSIEE Py

Bill Amount = No. of Unit Consumed x Unit Price
el ey i U A d
e oUted ey fid Lbioh Al a4 G%ww"iw%uéf
e

Units Consumed Unit Price

Units < = 200 Rs 12

Units > 200 but Units < = 400 Rs 15

Units > 400 Rs 20

e Qe ot d Senfid LALSS
Units Consumed Unit Price
Units < = 200 Rs 15

Units > 200 but Units < = 400 Rs 20

Units > 400 Rs 24
_LL‘&JK&KJJL&A1L¢4:u!)lﬁd/u’§oﬁJWU:lr:’d/JJLaﬁu:‘.d%/'j/?ug

Program:
#include<stdio.h>
void main()

{

int units, unit_price, bill;
char user_type;
printf(“Please enter h for home user and c for commercial
user: ”);
scanf(“%c”, &user_type);
printf(“Please enter the number of units consumed: “);
scant(“%d”, &units);

o )

(7)— g ’V}{Y,{
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if(units <= 200)
if(user_type == 'h")
unit_price = 12;
else if(user_type == 'c")
unit_price = 15;
else if(units > 200 && units <= 400)
if(user_type == 'h")
unit_price = 15;
else if(user_type == 'c")
unit_price = 20;
else
if(user_type == 'h")
unit_price = 15;
else if(user_type == 'c")
unit_price = 24;
bill = units * unit_price;
printf(“Your electricity bill is %d”, bill);

ci.ié¢/4ugi-b@J%téJ§uj;;gVguu»ziu@e’fc‘-,fk(lg..gut Mf?

S g S At S

_+,/g:xK:<%14£(u/§4 e il s L
sl IBO%UE L, 1 11 BSSE
Farkie U TO%UE e 41 201, BSCS
sl s 0% I 1L BSIT

L ity FS LGy b

J’%)@/Iﬂ;uﬁ/i/@:d’/d?‘»./}lbfL@/}lLﬁd/u;/}quy}lﬁﬂl/j4ug
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ch‘-t’nu"{(Switch case structure)}:/}u{ércgédlﬁ“lé’/’?ﬂufé:@u@l/Q—C
Jerig urt}”»r&d%u#%@ if-else sl if ,{?%C@JL&@Luytﬁ;wJ/,

_bng,z
S P EET Lo Silond_cpo £ ,,zu:‘?;/c4ug
1 Addition ri/j4:/f:_4_/@/:.,«Gt'll;:luy/;é:4clf
2 Subtraction Lt e el S
3 Multiplication
4 Division
S f 3.2.4
- (Programming Time)(l'k ..ﬁl)j/.: 3.5 E
-‘QU!}}lch/cuﬁu:ﬁ}uffLQﬁf%/%ug :(]514
Program:
include <stdio.h>
void main()
{
int n1, n2, n3;
printf ("Enter three numbers");
scanf ("%d%d%d", &nl, &n2, &n3);
if (n1 > n2 & nl1 > n3)
printf ("The largest number is %d", nl);
else if (n2 > n3 & n2 > nl)
printf ("The largest number is %d", n2);
else
printf ("The largest number is %d", n3);
N } J
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Program:
#include<stdio.h>
void main()
{
int choice;
float volume;
printf ("Find Volume\n");
printf ("1.Cube\n2.Cylinder\n3.Sphere\nEnter your choice:
")s
scanf ("%d", &choice);
if (choice ==1)
{
float length;
printf ("Enter Length: ");
scanf ("%f", &length);
volume = length * length * length;
printf ("Volume is %f", volume);
}
else if (choice ==2)
{
float lengthl, radiusi;
printf ("Enter Length: ");
scanf ("%f", &lengthl);
printf ("Enter Radius: ");
scanf ("%f", &radiusl);
volume = 3.142 * radiusl * radiusl * lengthl;

printf ("Volume is %f", volume);
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)

else if (choice == 3)

{
float radius;
printf ("Enter Radius: ");
scanf ("%f", &radius);
volume = 3.142 * pradius * radius * radius;
printf ("Volume is %f", volume);

}

else
printf (“Invalid Choice”);

}
\_ )

L Fasle S it SN Pk Bl L ) Léﬁu:d?l/’j/.: Y
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(7)— u" ’l//‘,;‘f,(
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SumedFie e/ PG S e @
SIZACHENY by (b <@
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tfde e St (4

int a =5;
if (a < 10)

a++;
else
if (a > 4)

a--;

S Ui a~; (b _ at++; (a
e ¥ cate Qb P e Jtui(s

a+c==0(d a*c==0(c c%a==0(b a%c==0(a
) o, s SFOIF B L6

S, P il (d Liue b &4
_‘at‘llz'( ﬁ,}‘d;}’lﬂ ifJ)lug/llLJ? it/i(7

ﬁj,ggﬁ(d Zg(c 223(b % (a
..‘cb'ﬂ-z{ qhy,wg;:,.g,«auta:’i(s

—2(d Jlk(c (b U
-w{é’/?dvjbﬂiz/d'f
UL 3 SR S
s (s o i (4
-Q::«Uﬁ/"gécamﬂj“}@/) :3/:‘1)!/
%;QMUXZQQF&Lﬁﬁﬁ}%ﬁZKQ(l
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a)

b)

<)

d)

—JSBPFL It felse sl i (3

e S s (a

L s i (s

—uind /if'ﬁ‘;#;%164,rwfq/J).q/Jm//“w:urﬂ’uu:;/ 441y

if (x 210)
printf (“Good”);

if (a<b&&b<c);
sum=a+b+c;
else
multiply =a * b * c;

if (a<7<b)
printf (“7”);

if (a==b&| x==y)
flag = true;
else
flag = false;

if (sum == 60 || product == 175)
printf (“Accepted %c), sum);
else
if (sum >=45 || product > 100)
printf (“Considered %d” + sum);
else
printf (“Rejected”);
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(7)— g ’l//‘,;‘f,(

b)

a=a+b;
if (a>208& % b<20)

b=a+b;
printf ( “a=%d, b =%d”, a, b);
int x = 45;

if (X + 20 * 7 == 455)
printf (“Look's Good”);
else
printf (“Hope for the Best”);
charcl="Y", c2="N";
intnl1 =5, n2=9;
nl=nl+1;
cl =c2;
if (n1==n28&& c1==1c2)
printf (“%d = %d and %c = %c”, nl, n2, cl, cl);
else
if (n1 < n2&& cl==c2)

printf (“%d < %d and %c = %c”, nl, n2, cl, c2);

else
printf (“Better Luck Next Time!”);
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d) inta=34,b=32, c=7,d=15;

a=b+c+d;

if (a<100)
a=a*2;
b=Db*c;
c=c+d;
if(a>b& & c==d)
{
c=d;
b=c;
a=b;
}
else
if (a>b& % c>d || b>=d+c)
{
d=c*c;
a=b*b;
}

printf (“a=%d, b=%d, c=%d, d=%d”, a, b, ¢, d);

e) intx=5,y=7,z=9;
if(x%2==0)
X++;
else
X=Y+2Z;
printf (“ x = %d\n”, x);
ifF(x%2==188y%2==1882z%2==1)
printf (“All are 0dd”);
if(x>y || x<z)

{
if(x>y)
y++;
else
if(x<z)
X++;
}

printf (“x=%d, y=%d, z=%d", x, y, z);
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Total Bill Discount
1000 10%
2500 20%
5000 35%
10000 50%
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B S b SIS e

Salary Experience with Company | Bonus Tasks Bonus
10000 2 Years 5 1500
10000 3 Years 10 2500
25000 3 Years 4 2000
75000 4 Years 7 3500
100000 5 Years 10 5000
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(Unit Introduction) _i/

st U sl U e I b TR o e el o1 2
G b il id UL Setb i i 258 b F Rl AE
Lor (L e\ e me tyt b s e en P S L L3S
Fe PEFISLRL I L LA i ptie LA
I

(Data Structures)]ﬁ.//‘“l‘d 4.1

ST SN I e b SB U RS S AT Sy o At S
LU S e LS 2 g 5 S A18,05100 5% BT AL U 100 20t/ U
S resr Zvifrtsd oo zimd Jsies ot Ak i S B £ o
ie:»?f

“_9l:'nd%lé&'@/ﬁfuﬁ#ﬁJl&uﬁfa;‘{L}/T&ﬁz%t’n/’éf.,{%?li’;é’”
uiz_/gL(Array)z./@t‘gs.g‘;u:wut.,,gwﬁ-wmn‘/&dlﬁﬂuﬁéﬁ,@ﬁ/?_c
e M AL e o L

(Array)e.! 4.1.1

et tint [t el ie L5 ABE LU e At
B Real Fogente s bl A
= V&ﬁﬂﬁr&uﬁd/}‘jj&gf%gw}‘}ﬁ LISt
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(Array Decleration) /%4541 4.1.2
,‘Lfﬁ@gf’l’?’c }wfz_/wté,@-c
4 )

type of data to be
stored in array

maximum number of
elements that can be stored

data_type array_name[ array_sizej;
|

identifier of
array
- Y,
,%'z,/wgﬂﬁiug&jgzuJ;m/.fuml/&»f.,guﬁu?m_/uf.;;eint,gfw;tgﬁ f
Ly /S

int daily_wage[7];
e JeS PSS b LEL A bo0g
float marks[20];

(Array initialization) 27 %1 4.1.3
o7 1 fes L A e bl R Ur‘:"ugﬂ’%ﬁuﬁ;/’ug;/&?
-ujé/(// chfi_}ul/;/lasﬁéﬁﬁ%_fu:p{mcr

data_type array_ name[N] = {valuel, value2, value3,........ , valueN};

-‘L&fg// Wlﬂ’/ﬁgﬁ’/;/l..‘.://V&ﬁafgéé:’&/l’ﬁy@JU}EQVJ:J@‘J)’@/}
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float height[7] = {5.7, 6.2, 5.9, 6.1, 5.0, 5.5, 6.2};
e FE7 L L3 S5 (Vowels) =l i 7L £ Sy Fit e el L
char vowels[5] ={'a"', 'e', 'i', '0o', 'u'};
tL A
e U ST L 1L S GG S a S
VU e et S T gt A S ek

,

. . initializing whole
void main() ar‘r‘ay after declaration
{ not allowed
int array[5];
array[5] = {10, 20, 30, 40, 50}; <
\} J

-‘QQ)//,,i/WujZ_/y}(J'L/@ Wluﬁﬂj!@/&;lMLL/’ﬁ%’ﬂgeuﬁdlf’*&@)/r;l

(Accessing Array EIements)gw..f ‘fpﬁ"-J’ 4,1.4

(U;U array—name[index];@/u’IjVL(L’é;;l:@’?%L“;'nggfvluggwl/:égﬂ
_wéf‘_)"uéijéu@:m
Q}Jlf(ﬁ!%iheightg/lheight[O]Iﬂ.;.ﬂg(ﬁ&“!ﬁT/;llgg /mg.moufmgwu%
< JE7 heightg/lﬁuiuégé'uﬁ&lgﬁ.‘a e LTSI et suheight[1]-o

- C"/ Sop v u( J
: ‘.
O o R & W R &
\\é\‘)\\ ‘(\e’\(}\\ \\é\Q\\ \\é\Q\\ \\é\‘)\\ \\é\‘)\\ \\é\‘)\\
5.7 6.2 5.9 6.1 5.0 5.5 6.2< Value

Index—— 0 1 2 3 4 5 6

JM/L}( ai_u'a:/”r‘.j) JQ!/@/ heighte_.I:4. 1‘)&
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- (Programming Time) ..ﬁi/‘;/,: 4.1 E

-LLa()/,:q'}mt_/@‘}i{u':(_/!ugg[/d/uﬁégﬁ‘jg?l/’j/?ug
:f
#include<stdio.h>
void main()
{
int age[5];
/* Following statements assign values at different
indices of array age. We can see that the first value is
stored at index @ and the last value is stored at index 4
*/
age[@] = 25;
age[1] = 34;
age[2] = 29;
age[3] = 43;
age[4] = 19;
/* Following statement displays the ages of five persons
stored in the array */
printf(“The ages of five persons are: %d, %d, %d, %d,
%d”, age[©0], age[1], age[2], age[3], age[4]);
}

z z 7 &
(Programming Time) Fhiy a2 E

_Lu§4q)¢/:2gﬁ;/fb/,ué_%uﬂc.bu/:}u/fbéuﬁwmﬁ’%f/’vg
:f

#tinclude<stdio.h>
void main()

{

float marks[4], total marks;
printf(“Please enter the marks obtained in 4 subjects:
“)s
scanf (“%f%f%f%f”,&marks[0], &marks[1l], &marks[2],
&marks[3]);
total _marks = marks[@] + marks[1] + marks[2] + marks[3];
printf(“Total marks obtained by student are %f”,
total_marks);

k} J
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-C;_Lf‘y&"/u:',’)j/?‘j“}@/)#é[—Cﬁl?&fdW'J"C:v’GJ’/}wo}(%’d/“}f‘;—:Mu(nvg&z}’

-

{

}

-

#tinclude<stdio.h>
void main()

int array[5] = {10, 20, 30, 40, 50};
int i;

/* Following statements ask the user to input an index

into variable i. */

printf(“Please enter the index whose value you want to

display”);
scanf (“%d”, &i);

/* Following statement displays the value of the array

at the index entered by user. */

printf(“The value is %d”, array[i]);

J

=d STt 1SS St E U ed SRS A et by L3

_J;JVVI

-

EXAMPLE CODE 4.3 <\>

#include<stdio.h>
void main()

{
int array[5] = {10, 20, 30, 40, 50};
inti=2;
/* Following statement displays value 30, as i contains
2 and the value at array[2] is 30 */
printf(“%d”, array[i]);
i++;
/* Following statement displays value 40, as i has been
incremented to 3 and the value at array[3] is 40. */
printf(“\n%d”, array[i]);

}

- J
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:(Loop Structure)j./}b.:«;J 4.2
"Pakistan"..;’//!j;/,:d”/aﬂ W_QL/JW!KJJ(UUM&W’ %}g;,ggvgu:"ﬁ
ufd/_;)uf éﬁ:’-c L Q/JL»’VI - Arys = printf("Pakistan"); =1+ ﬁ]u:/ Zk ]
o
- For-1
< While-2
< Do-while-3
_Zuj/c:;/?.,;)Forﬁui‘_,gw
(General Structure of Loops) {W(lagu{u’ 4.2.1
fgﬁjuwﬁ"yby?_/mﬁﬁanLl/;;’.fyu’uug;?t{vguu’zdu’ O IO
sl L8 SN ER G caSnL Tt

S el ke ey S PP

SUWAEG E L fr £ g s fe po Tl oL f SIS o 6 10L L
g’;ﬁwﬁuf 6/@;!,{3{7 Jiste sy Sk 107 gugingjg)é 1008 Z: sl gl S
-Glgnuf10@ff¢ﬁuflm5bf¢(€:ﬂ.ufg’gn4_/g/§10[1@‘."55/.5&!(1u.'f

e b B e S (L iyt A S i
(General Syntax of for loop) u"@'?b(.,) 4.2.2
:4‘,:%&(7:’F0Rufé;@,@l/j4—c

for(initialization; condition; increment/decrement)

{
Code to repeat
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A 54 ulgﬁwééédf;i 3L _JFOR

Initialization
Increment/
Decrement
Execute
Condition Associated Code

:ujém{)gf}lfj@/)ﬂwb‘ulg}ﬁ

SIS LA vt & o he 20K _JFOR(Initialization) /%7 151-1
-ugz_l%ﬁLuJ%ﬂ/@wZ_/‘/’ w1y
_uj??_(g‘ﬂ}:yL.?«)(Z;n(FaIse)wd/fiui%&n..%(Condition)ﬁi‘J/—Z

LBt 16 Fi6nt L b n sk E IS S Ao FS S e (True) e 113
-wLLg%/?Z/;lP/ug})ﬂ/}i‘Lgﬁﬂju’&lb/‘

for(inti=90; i< 3; i++)

{

}
Output:
Pakistan
Pakistan

Pakistan

printf(“Pakistan\n”);

EXAMPLE CODE 4.4 <\>
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.

.,‘,?/“J“)' Zw)"!/j/,: S = m{) (’5;@/’;)!% Ku’!gdwlg)ﬁ/)lQ//f{j/id,}/vfgfﬂﬁ

_§.VM(Execute)¢zg)?i¢;

—ebln W!LO&"E/)I‘LL"L?}’Z%‘W IS £ Lgint i=0;(}’~{‘¢ P IS T
St e Qenuy Flie (e 32c 0ed § i SMeea bt U4 k3G ef 2
LT

-ﬁ;blgua"Pakistan"/?Q/cm printf(“Pakistan\n“);ﬁc‘;@:dﬁg,;)_S

;wfd/ifuﬂ‘at‘njwlgluﬁggu(i 4;2‘2 i++;@~+3ﬁ¢zgﬂ?ﬂﬁ/{g!¢&ffjﬁ/¢a£ﬁ.4

b1 bif 07

FlE SIS A e (e 320 123 ST BLE o fFun 1S
_JngnZ.wffd/i/iff_(L@J"Pakistan"u@»/?q)/’

€Wl "Pakistan"s s, o A le fe32e 228§y L g S Gk 16

dbn3e=dd
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Program:
for(inti=1; i<=10; i++)

{
}

o /

printf(“%d\n”, i);
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Program:
#include<stdio.h>
void main()
{
int n, fact =1;
printf(“Please enter a positive number whose factorial
you want to find”);
scanf(“%d”, &n);
for(inti=1; i<=n;i++)

{
fact = fact *1i;
}
printf (“The factorial of input number %d is %d”, n,
fact);

; d/“u}.‘éﬂ/@;uﬁu’!-nS.gulﬁ-‘L“/.L'lag.'é{)KL/(KK(!/?/?JI‘}U}@/) J‘.’.‘j
= ST s

Iteration | Value of counter | Condition Loopbody |Result
fact=1
1 i=1 TRUE (1<=5) |fact=fact*i | fact=1*1=1
2 i=2 TRUE (2<=5) | fact=fact*i |fact=1*2=2
3 i=3 TRUE (3<=5) |fact=fact*i | fact=2*3=6
4 i=4 TRUE (4<=5) | fact=fact*i |fact=6"4=24
5 i=5 TRUE (5<=5) |fact=fact*i |fact=24*5=120
6 i=6 FALSE (6>5)
o j

(Nested Loops) ss4h 4.2.3
L Soale Al il A e T

for(initialization; condition; increment/decrement)

{

Code to repeat

}
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- L"Ll«;((Nested Loop Structure)j;’f

for(initialization; condition; increment/decrement)

{
for(initialization; condition; increment/decrement)
{
Code to repeat
}
}
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(Programming Time) u&'/;/? 4.5 E
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Program: :f"C/e
#include<stdio.h>
void main()
{
for(inti=1; i<=5; i++)
{
for(int j =1; j <=10; j++)
{
printf(“%d >, j);
}
printf(“\n”);
}
}
- /
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Program:
#include<stdio.h>
void main()

{

for(inti=1; 1i<=6; i++)
{
for(int j=1; j<=1; j++)
printf(“*”);
printf(“\n”);
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Program:
#include <stdio.h>
void main ()
{
int n, lower, upper, count = 0;
printf ("Enter the number: ");
scanf ("%d", &n);
printf ("Enter the 1lower and upper 1limit of
multiples:\n");
scanf ("%d%d", &lower, &upper);
for(int i = lower; i <= upper; i++)
if(i%n==09)
count++;
printf ("Number of multiples of %d between %d and %d are
%d", n, lower, upper, count);

- (Programming Time)(/’L‘

. be . . ~Z
(en2e 12nD G Aede J(integers)) £1L 1sd ljnZ:_nlﬁuff’?l/;/vug

Program:
#include <stdio.h>
void main ()

{
int nl, n2;
printf ("Enter the lower and upper limit of even
numbers:\n");
scanf ("%d%d", &n2, &nl);
- /
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N
if(nl > n2)
{
for (inti=nl1; i >=n2; I--)
{
if(i%2==0)
printf ("%d ", i);
}
}
}
- J
- (Programming Time)(';L‘
Ui s A S kst
Program:
#include <stdio.h>
void main ()
{
int n;
int flag = 1;
printf ("Enter a number: ");
scanf ("%d", &n);
for (inti=2; i< n; i++)
{
if (n%1i==0)
flag = 9;
}
if (flag==1)
printf ("This is a prime number");
else
printf ("This is not a prime number");
}
- J
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Program:
# include<stdio.h>
int main ()
{
int flag;
for (int j =2; j <=100; j++)
{
flag = 1;
for (inti=2; i< j; i++)
{
if(j%1i==09)
{
flag = 0;
}
}
if (flag==1)
{
printf ("%d ", j);
}
}
}
- J

(Loops and Arays) JLsl_244.2.5
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- EXAMPLE CODE 4.5 <\>
int a[19];
for (inti=0; i< 10; i++)

scanf ("%d", &a[i]);

\_
- (Programming Time)(f'k ..;C‘UC/,: 4.11 E
:r{’l/‘:
A ASsd L3t fiS sy’v;wf’?uf/?.,g
Program: )

#include<stdio.h>
void main()

{
int multiples[5];
for (inti=0; i< 5; i++)
multiples[i]= (i + 1) * 23 ;
}
- /

oy e e NS _i-2

S j’”&uooﬁéﬂwﬁﬁswq&c /J’dmvﬂu:agﬁ:;;nfwé s
..ujiuj/?d/(?_/l

EXAMPLE CODE 4.6 <\>

for (inti=0; 1< 100; i++)
printf("%d ", a[i]);

RS 0L G 000 e L K s
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EXAMPLE CODE 4.7 <\>

int sum = 09;
for(inti=90; i< 100; i++)
sum = sum + a[i];
printf(“The sum of all the elements of array is %d”, sum);

_2.mwtJuth_y,uw}LJ}fL,b301&&.,@,?%%/’2.,9
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(Programming Time) ..ﬁ‘l/;/.: 4.12 E
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_;/G"/j‘*'}"twézmmuf”%f/vug

Program:
#include <stdio.h>
void main ()

{
int a[] = {2, 3, 54, 22, 67, 34, 29, 19};
int b[] = {65,73,26, 10, 4, 2, 84, 26};
for (int i=0; i<8; i++)
printf ("%d ", a[i] + b[i]);
}
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data_type array name[array size];

_%tﬂfuﬁ;/lﬁ%:fﬁJWw(Data Type) FLlse

‘c‘_l.?,))!ilfz_/!;?c‘,&&)ﬁbg(mray Name)(t(z_/!o
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data_type array name[N] = {valuel, value2, value3,..., valueN};

Laﬁg,ﬁufkngt/ﬁ Array Name[Index] L }wiv&rbéz_mffmbgéwwégn °
e et bl e et e PSS (L

do whilec..:«)‘WhiIe:.;;’Foru:":’wcd/.;;’_‘at‘ngﬂﬁ"léid'.l/:)’/&:ugz: u%';.}b;;’ °
-

‘c‘,{tﬁrkl{?ﬁor uﬁé;@.ﬁ ;4:-Co

for(initialization; condition,; increment/decrement)

{
Code to repeat;
}
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a) int a[] = ({2},{3},{4});

b) for (inti =0, i< 10, i++)
printf (“%d\n”, i);

c) inta[]={1,2,3,4,5};
for (int j =0; j < 5; j++)
printf (“%d “, a(3j));

d) float f[] ={1.4, 3.5, 7.3, 5.9};
int size = 4;
for (int n=-1; n< size; n--)
printf (“%f\n”, f[n]);

e) int count = 0;
for (inti=4;i<6;1i--)
for (int j =1, j < 45; j++)
{
count++;
printf (“%count”, count)

}
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a)

b)

<)

d)

e)

-u:‘.d{:{,b‘a

int sum = 9, p;

for (p=5; p<=25;p=p+5)
sum = sum + 5;

printf (“Sum is %d”, sum);

int i;
for (i=34; i<=60; i=1%*2)
printf (“* <);

for (int i =50; i <=50; i++)

{

for (j=1; j >=48; j--)
printf (“j =%d \ n”, j);

printf (“i = %d\n”, i);

by

inti, arr[] ={2, 3, 4, 5, 6, 7, 8};

for (i=0; 1i<7; i++)

{
printf (“%d\n”, arr[i] * arr[i]);
i++;

¥

int i,j;

float arl[] ={1.1, 1.2, 1.3};
float ar2[] ={2.1, 2.2, 2.3};
for (1=0; 1< 3; i++)

for (j=1; j< 3; j++)

TSUr L 5t 455 A iy

printf (“%f\n”, arl[i] * ar2[j] *1i * j);
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(Unit Introduction) i, K22y
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(Functions))’-:ﬁ 5.1

ufim{/,c[/(‘u(/"zz{%é uigwgprintfﬂf”‘ctz)ﬂ,f"rﬁfuwgﬁ‘é-f&vggﬁnfﬂ@
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PUIEEE 51
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(Built-in Function);’-ﬁu[bul;/ -1
(User-Defined Funcﬁon))ﬁ@ﬁflé{ﬁu’g -2
(Builtin Function))’-it/"ul,u&
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(Handling the Complexity of Problem) W.»;&.gmf&:s
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_‘Lﬁwﬂﬂged/é”gmwa"_/ﬁ:‘” “uﬁur"i.;@’/ﬂ/@?
(Readability) =2 of22 % _4
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o
_‘a,:.jw,/wijﬁéfé;+b/J@5¢4¢5E,iﬂulJf@ECf@

function identifier
|

return_t e unction_namé(data_t e1, data_type2,...,data_typeN);
ype fi , yp yp ypeN

data type of
return value

|
data types of
function parameters
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-‘ét:g'.u;ut(int)/‘-fu,g,zui"/’,g

int square (int);

_‘at'/&]:l;&/(u’fm
L esundize sl 2 28

float perimeter (float, float);
-é./uﬁ/)la'gu’l/:l

L%U!(integers)/ﬁ!ufzuf’@ug
_L/uﬁ/é;dkcqaufulul

int largest (int, int, int);

L&:’;u!u’}/{é—//’)}?umbg
float area (float);
_L/Uﬁjp.:"zﬂl

Lzl M/ Lzl

Py g /"1./0.:/:4_/ )Y, 1])?:»10,5]05/'7/:!

int isVowel (char);

JZ}LLU!AI}“/@}.:S.IJ:J
(Defining a func‘cion)I:/le@.j,{y"/6 5.1.4

(Functionﬁ'ﬁfﬁééw_‘aéérgﬂjfagQu@Lfg:ui@;g
:+c;@/J!£{Lw5Kﬁw'ﬁuiﬁ;g-‘génDeﬁnition)
return_type function_name (data_type var1, data_type var2,.., data_type varN)

{

Body of the function
}
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A8 5 Ay
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_ﬁ;blA;"A Quick Brown Fox Jumps Over the Lazy DOg"éJ”/éd?{{/u{i;t’/Uﬁjf:

.

void showPanr‘am( )

{ Ifunction name‘

printf(“\nA quick brown fox jumps over the lazy
dog.\n”);

- J

_‘Lvoid:flfd/i./d/u’l“iJ’V/Jdﬁ/i:f/gﬂgaﬁfu}z
_g/uﬁzczu(ubﬂLgb;u1(integer) }ﬁ»ﬁd}&d@wlb‘gvl !2“,7

p EXAMPLE CODE 5.2 <\>

int add(int x, int )’ |
parameters of function
(SO
int result; [return type|

result =x +vy;

‘ function name |

return result;

A J

-LLt’ndlzv"“léj.z:L/uﬁ./o{"/uig(calIing)..@(ﬁta‘lsﬂ,&/‘.gretum M’léu’:ﬁ

LWL A
ﬂ""f‘c/uf(u/?./u,‘:‘gukzc_ugu;abg
_LLQ;//“l/’/guféLﬁJj@u

return (4,5);
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function_name(valuel, value2,.., valueN);

-J.‘f’g/ri/'j/? J HOPA L e

p EXAMPLE CODE 5.3 <\>

void main()

{
printf(“Hello from main()”);
|[showPangram() ;«———| function call|
printf(“Welcome back to main()”);

}

Output:

Hello from main()
A quick brown fox jumps over the lazy dog.
Welcome back to main()

Jld;}?’g.gT(zjﬂédw)JKfﬁafg-c‘-V/C:/“Ugc;ufﬁmain(l/jgwgfujémf;ﬂ
L e bl EFE SR L o ek ¢£fﬁZ4JK.‘Lrwﬂjff@
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p EXAMPLE CODE 5.4 <\>

void main ()

{

(7)— g ’Lf/'{‘{.{

int n1l, n2, sum;
scanf ("%d%d", &1, &n2);[function name|

sum =|ad71 (nl,n2);|< |function calll

printf ("Sum is %d", sum); ‘function arguments‘
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;

#include<stdio.h>
void fun(int x, inty)
{
X = 20;
y = 10;
printf(“Values of x and y in fun(): %d %d”, x, y);
}
void main()
{
int x =10, y = 20;
fun(x, y);
printf(“Values of x and y in main(): %d %d”, x, y);
}
Output:
Values of x and y in fun(): 20 10
Values of x and y in main(): 10 20
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a) int add(int, int); b) int add(int a, int b)

void main() {

{ return a + b;
printf(”%d *add(4, 5)); }

} void main()

int add(int a, int b) {

{ printf(”%d *add(4, 5)
return a + b; }

}

Programming Time)(/’L‘
Sl Syl AL 2 Sl prime()tf’q@
g et main()/uf/@Jl_g/uf‘;/oiuj

Program:
#include <stdio.h>
int prime (int n)

{
for (inti=2; i< n; i++)
if(n%i==9)
return 9;
return 1;
}
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void main()

{
int x;
printf ("Please enter a number: ");
scanf ("%d", &x);
if(prime(x))
printf ("%d is a Prime Number",x);
else
printf ("%d is not a Prime Number",x);
o } J
~ Programming Time)(l’t‘

:ﬁl/?
U/‘LJ(‘ffb/ﬁ'c/@/w/f/ufﬂ_aoniL/’ML."a;U!/o?vgﬁuf’Juﬁ@;g
/)

Program:
int digitsSum(int n)
{
int sum = 0;
for(int i =0; i <=n; i++)

{
sum = sum + i;
}
return sum;
}
void main()
{

int number;
printf("Please enter a positive number: ");
scanf("%d", &umber);

o
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if(number >=0)

{

int sum = digitsSum(number);

printf("The sum of numbers upto given number is
%d",sum) ;

}

else
printf("You entered a negative number.");
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a) void sum (inta, intb)

{
returna+b;
}
b) void message ();
{
printf (“Hope you are fine :)”);
return 23;
}
¢) intmax (inta; intb)
{
if (a>b)
return a;
returnb;
}

d) int product (intnl, intn2)
returnnl*n2;
e) int totalDigits (int x)

{
int count =0;
for (inti=x;i>=1,1i=1/10)
count++;
return count
}s
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a) int xyz (int n)

{
returnn + n;
}
int main()
{
int p = xyx(5);
p=xyz(p);
printf (“%d “,p);
}
b) void abc (int a, int b, int c)
{
int sum=a+b+c;
}
int main()
{
intx=4,y=7, z=23, suml = 9;
abc (x, y, z);
printf (“%d %d %d” x, y ,z);
}
c¢) int aa (int x)
{
intp=x/10;
X++;
p=p+(p*x);
return p;
}
int main()
{
printf (“We got %d “, aa(aa(23)));
}
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d) float f3(int nl1, int n2)

{
nl =nl+ n2;
n2 =n2 - nl;
return 0;
¥
int main()
{
printf (“%f\n”, £3(3, 2));
printf (“%f\n”, £3(10, 6));
¥
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